



Date: 08/28/2018

Page 1 of 5

	CMPER VIGILA		L			
PARK 8 202 "C"	D: F SAN DIEGO & RECREATION DEPARTMENT STREET, FLOOR 5 EGO CA 92101-4806	Bill To: Open Space 202 C Street, 5th Floor San Diego CA 92101		Billing Contact DAVID TRAN Telephone: E-Mail:davidt@s		v
Vendo	r: Westturf Landscape Maintena PO Box 1706 Vista CA 92085-1706	nce) days Due net 7 Terms: stination		
			Buyer:	Katrina McE	Donald	
			Telepho	one: 619 236-60	38	
Vendor	ID: 10003500 Telephone: 760-650-312	20 E-Mail: info@westturf.com	E-Mail:	KMMcDona	ld@sandieg	o.gov
Line #	Item ID/Description Serv # Service De	Del.Date Quan scription	tity/Ord Uo	M Unit Price/Prc Conv Facto		ended Price
1	LANDSCAPE MAINT CAT I	06/30/2019	12 MON	2836.19 M	ION USD	34,034.28
	Carmel Valley (Area I) MAD - Provide landscape accordance with BID# 10071380-17-M and OA# 07/01/2018.					
	DIR Project ID: 193403					
	IMPORTANT NOTICE TO CONTRACTOR: All is category performed and dollar amount per the c by total invoice amount.					
***	Please include PO number on all invoices and e gflores@sandiego.gov or by U.S. mail to the bill the PO to the ATTN: George Flores. If questions Flores at 619-685-1335. Item partially delivered	ing address as shown on				
2	LANDSCAPE MAINT CAT II	06/30/2019	12 MON	1036.16 M	ION USD	12,433.9
***	Item partially delivered					
3	LANDSCAPE MAINT CAT III	06/30/2019	12 MON	372.67 M	ON USD	4,472.04
***	Item partially delivered					
4	LANDSCAPE MAINT CAT IV	06/30/2019	12 MON	4534.33 M	ION USD	54,411.96
***	Item partially delivered					
5	LANDSCAPE MAINT CAT V	06/30/2019	12 MON	2066.31 M	ION USD	24,795.72
***	Item partially delivered					
6	LANDSCAPE MAINT CAT VI	06/30/2019	12 MON	2600.74 M	ION USD	31,208.88
The Term	ns and Conditions of this Purchase Order are	available at http://www.sandiego.gov/purchas	sing/vendor	SEE L	AST	PAGF
	IMPC	DRTANT!			R TOT	
To ensu	re prompt payments, PO # must appear	r on all shipments and invoices; all invoic ess listed above	es must b			- •
arected	to billing contact person at bill-10 addr	ธออ แอเฮน สมบงช				





Date: 08/28/2018 Pa

Page 2 of 5

Line #	Item ID/Description Serv# Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Pr Conv Fac		Exter	nded Price
***	Item partially delivered						
7	LANDSCAPE MAINT CAT VII	06/30/2019	12 MON	394.44	MON	USD	4,733.28
***	Item partially delivered						
8	LANDSCAPE MAINT CAT VIII	06/30/2019	12 MON	279.28	MON	USD	3,351.36
***	Item partially delivered						
9	LANDSCAPE MAINT CAT IX	06/30/2019	12 MON	617.33	MON	USD	7,407.96
***	Item partially delivered						
10	LANDSCAPE MAINT CAT X	06/30/2019	12 MON	8545.23	MON	USD	102,542.76
***	Item partially delivered						
11	LANDSCAPE MAINT CAT XI	06/30/2019	12 MON	1217.67	MON	USD	14,612.04
***	Item partially delivered						
12	LANDSCAPE MAINT CAT XII	06/30/2019	12 MON	1206.00	MON	USD	14,472.00
	Carmel Valley (Area I) MAD - Provide landscapce maintenance accordance with BID# 10071380-17-M and OA# 4600003063 b 08/01/2018.						
	IMPORTANT NOTICE TO CONTRACTOR: All invoices must lis category performed and dollar amount per the contract (PA/OA by total invoice amount.						
***	Please include PO number on all invoices and email invoice to: gflores@sandiego.gov or by U.S. mail to the billing address as the PO to the ATTN: George Flores. If questions, please contac Flores at 619-685-1335. Item partially delivered						
13	LANDSCAPE MAINT CAT XIII Item partially delivered	06/30/2019	12 MON	881.42	MON	USD	10,577.04
14	LANDSCAPE MAINT CAT XIV	06/30/2019	12 MON	277.45	MON	USD	3,329.40
***	Item partially delivered						
15	LANDSCAPE MAINT EXTRA LABOR	06/30/2019	36,000 EA	1.00	EA	USD	36,000.00
	By performing the services detailed in this purchase order, Con is entering into a contract with the City. Contractor certifies that or she is aware of the wage provisions described herein and sh	he					
The Term	as and Conditions of this Purchase Order are available at h	ttp://www.sandiego.go	ov/purchasing/vendor	SEE	ΙΔ	ST	PAGE
	IMPORTANT!						





Date: 08/28/2018

Page 3 of 5

ne#	Item ID/Description Serv# Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Prc Uom Conv Factor	Extended Price
	with such provisions before commencing services.				
	A. PREVAILING WAGES. Pursuant to San Diego Municipal Cod				
	22.3019, construction, alteration, demolition, repair and maintena work performed under this Contract is subject to State prevailing				
	laws. For construction work performed under this Contract cumul				
	exceeding \$25,000 and for alteration, demolition, repair and mair				
	work performed under this Contract cumulatively exceeding \$15,				
	Contractor and its subcontractors shall comply with State prevail	ng			
	wage laws including, but not limited to, the requirements listed be				
	This requirement is in addition to the requirement to pay Living W	0			
	pursuant to San Diego Municipal Code sections 22.4201 through Contractor must determine which per diem rate is highest for eac				
	classification of work (i.e. Prevailing Wage Rate or Living Wage I				
	and pay the highest of the two rates to their employees. Living V				
	applies to workers who are not subject to Prevailing Wage Rates	•			
	1. Compliance with Prevailing Wage Requirements. Pursuant to	sections			
	1720 through 1861 of the California Labor Code, Contractor and				
	subcontractors shall ensure that all workers who perform work un				
	Contract are paid not less than the prevailing rate of per diem wa	•			
	determined by the Director of the California Department of Indusi Relations (DIR). This includes work performed during the design				
	Relations (DIR). This includes work performed during the design preconstruction phases of construction including, but not limited				
	inspection and land surveying work.	,			
	1.1. Copies of such prevailing rate of per diem wages are on file	at the			
	City of San Diego's Equal Opportunity Contracting Department a				
	available for inspection to any interested party on request. Copie	s of			
	the prevailing rate of per diem wages also may be found at				
	http://www.dir.ca.gov/OPRL/DPreWageDetermination.htm. Contr				
	subcontractors shall post a copy of the prevailing rate of per dien				
	wages determination at each job site and shall make them availa any interested party upon request.	DIE TO			
	1.2. The wage rates determined by the DIR refer to expiration da	tes If			
	the published wage rate does not refer to a predetermined wage				
	be paid after the expiration date, then the published rate of wage				
	be in effect for the life of this Contract. If the published wage rate				
	refers to a predetermined wage rate to become effective upon ex				
	of the published wage rate and the predetermined wage rate is o				
	with the DIR, such predetermined wage rate shall become effect date following the expiration date and shall apply to this Contract				
	the same manner as if it had been published in said publication.				
	predetermined wage rate refers to one or more additional expirat				
	dates with additional predetermined wage rates, which expiration				
	occur during the life of this Contract, each successive predeterm	ined			
	wage rate shall apply to this Contract on the date following the e				
	xpiration date of the previous wage rate. If the last of such				
	predetermined wage rates expires during the life of this Contract,	such			
	wage rate shall apply to the balance of the Contract.2. Penalties for Violations. Contractor and its subcontractors sha	I			
	comply with California Labor Code section 1775 in the event a w				
	paid less than the prevailing wage rate for the work or craft in wh				
	the worker is employed. This shall be in addition to any other				
	applicable penalties allowed under Labor Code sections 1720 -				
	3. Payroll Records. Contractor and its subcontractors shall comp				
	California Labor Code section 1776, which generally requires kee				
	accurate payroll records, verifying and certifying payroll records, making them available for inspection. Contractor shall require its	anu			
	subcontractors to also comply with section 1776. Contractor and	its			
	subcontractors shall submit weekly certified payroll records onlin				
	the City's web-based Labor Compliance Program. Contractor is r				
	for ensuring its subcontractors submit certified payroll records to	the			
	City. Contractor and its subcontractors shall also furnish the reco				
	specified in Labor Code section 1776 directly to the Labor Comm	lissioner			
	in the manner required in Labor Code section 1771.4.	ith			
	 Apprentices. Contractor and its subcontractors shall comply w California Labor Code sections 1777.5, 1777.6 and 1777.7 conce 				
	employment and wages of apprentices. Contractor shall be held				
	responsible for their compliance as well as the compliance of the	ir			
e Term	as and Conditions of this Purchase Order are available at htt	p://www.sandiego.g	ov/purchasing/vendor		
	IMPORTANT!			FOR '	TOTAL
000	e prompt payments, PO # must appear on all shipmo o <i>Billing</i> Contact person at <i>Bill-To</i> address listed abov	onto and involace			
	e prompt payments. PO # must appear on all shipm	ents and involces:	an involces must be	1	





Date: 08/28/2018

Page 4 of 5

ne#	Item ID/Description Serv# Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Prc Uom Conv Factor	Extended Price
	subcontractors with sections 1777.5, 1777.6 and 1777.7.				
	5. Working Hours. Contractor and its subcontractors shall comply				
	California Labor Code sections 1810 through 1815, including but r	not			
	limited to: (i) restrict working hours on public works contracts to	Lin			
	eight hours a day and forty hours a week, unless all hours worked excess of 8 hours per day are compensated at not less than 1 ¹ / ₂ ti				
	basic rate of pay; and (ii) specify penalties to be imposed on desig				
	professionals and subcontractors of \$25 per worker per day for ea				
	the worker works more than 8 hours per day and 40 hours per we				
	violation of California Labor Code sections1810 through 1815.				
	6. Required Provisions for Subcontracts. Contractor shall include	at a			
	minimum a copy of the following provisions in any contract they er				
	into with a subcontractor: California Labor Code sections 1771, 17	771.1,			
	1775, 1776, 1777.5, 1810, 1813, 1815, 1860 and 1861.	a with			
	 Labor Code Section 1861 Certification. Contractor in accordance California Labor Code section 3700 is required to secure the payn 				
	compensation of its employees and by signing this Contract, Cont				
	certifies that "I am aware of the provisions of Section 3700 of the				
	California Labor Code which require every employer to be insured	lagainst			
	liability for workers' compensation or to undertake self-insurance i				
	accordance with the provisions of that code, and I will comply with	n such			
	provisions before commencing the performance of the work of this	3			
	Contract."				
	8. Labor Compliance Program. The City has its own Labor Compl				
	Program authorized in August 2011 by the DIR. The City will with				
	contract payments when payroll records are delinquent or deemed				
	inadequate by the City or other governmental entity, or it has beer established after an investigation by the City or other governmenta				
	entity that underpayment(s) have occurred. For questions or assis				
	please contact the City of San Diego's Equal Opportunity Contrac				
	Department at 619-236-6000.	5			
	9. Contractor and Subcontractor Registration Requirements. This	project			
	is subject to compliance monitoring and enforcement by the DIR.	A			
	contractor or subcontractor shall not be qualified to bid on, be liste				
	in a bid proposal, subject to the requirements of Section 4104 of the				
	Public Contract Code, or enter into any contract for public work, a				
	defined in this chapter of the Labor Code unless currently register and qualified to perform the work pursuant to Section 1725.5. In	eu			
	accordance with Labor Code section 1771.1.(a), "[i]t is not a violat	tion			
	of this section for an unregistered contractor to submit a bid that is				
	authorized by Section 7029.1 of the Business and Professions Co				
	Section 10164 or 20103.5 of the Public Contract Code, provided t				
	contractor is registered to perform public work pursuant to Section	ı			
	1725.5 at the time the contract is awarded."				
	9.1. A Contractor's inadvertent error in listing a subcontractor who				
	not registered pursuant to Labor Code section 1725.5 in a respon-	se to a			
	solicitation shall not be grounds for filing a bid protest or grounds for considering the bid non-responsive provided that any of the				
	following apply: (1) the subcontractor is registered prior to bid				
	opening; (2) within twenty-four hours after the bid opening, the				
	subcontractor is registered and has paid the penalty registration fe	ee			
	specified in Labor Code section 1725.5; or (3) the subcontractor is	3			
	replaced by another registered contractor pursuant to Public Cont	ract			
	Code section 4107.				
	9.2. A Contract entered into with any Contractor or subcontractor	in			
	violation of Labor Code section 1771.1(a) shall be subject to c				
	ancellation, provided that a Contract for public work shall not be	_			
	unlawful, void, or voidable solely due to the failure of the awarding body, Contractor, or any subcontractor to comply with the requirer				
	of section 1725.5 of this section.	nemo			
	9.3. By submitting a bid or proposal to the City, Contractor is				
	certifying that he or she has verified that all subcontractors used of	n			
	this public works project are registered with the DIR in compliance				
	Labor Code sections 1771.1 and 1725.5, and Contractor shall pro	vide			
	proof of registration for themselves and all listed subcontractors to)			
	the City at the time of bid or proposal due date or upon request. 10. Stop Order. For Contractor or its subcontractor(s) engaging in	the			
e Term	is and Conditions of this Purchase Order are available at http	o://www.sandiego.g	ov/purchasing/vendor		
	NDADT NT			SEE LA	
	IMPORTANT!			FOR	TOTAL
	e prompt payments, PO # must appear on all shipme o <i>Billing</i> Contact person at <i>Bill-To</i> address listed abov	nto and invoices	all invoices must be		





Date: 08/28/2018

Page 5 of 5

Line #	Item ID/Description Serv# Service Description	Del.Date	Quantity/Ord UoM	Unit Price/Prc Uom Conv Factor	Extended Price
	 performance of any public work contract without having been registered in violation of Labor Code sections 1725.5 or 1771.1, the Labor Commissioner shall issue and serve a stop order prohibiting the use of the unregistered Contractor or unregistered subcontractor(s) on ALL public works until the unregistered Contractor or unregistered a subcontractor(s) is registered. Failure to observe a stop order is a misdemeanor. 11. List of all Subcontractors. The City may ask Contractor for the most current list of subcontractors (regardless of tier), along with their DIR registration numbers, utilized on this contract any time during performance of this contract, and Contractor shall provide the list within ten (10) working days of the City's request. Additionally, Contractor shall provide the City with a complete list of all subcontractors utilized on this contract (regardless of tier), within ten working days of the completion of the contract, along with their DIR registration numbers. The City shall withhold final payment to Contractor until at least 30 days after this information is provided to the City. 12. Exemptions for Small Projects. There are limited exemptions for installation, alteration, demolition, or repair work done on projects of \$25,000 or less. The Contractor shall still comply with Labor Code section 1776 shall be required to be kept and submitted to the City of San Diego, but will not be required to be submitted online with the DIR directly. Contractor will need to keep those records for at least three years following the completion of the contract. (Labor Code section 1777.4.). 12. List of all Subcontractors. Contractor shall not be required to hire only registered subcontractors and is exempt from submitting the list of all subcontractors that is required in section 1771.4.). 12. List of all Subcontractors. SubC sections 22.4221 through 22.4245 LWO requires payment of minimum houry wage rates and other beneffinal subcontractor shall proje lease. SubC sec	: The s le C red ns ion e			
***	Item partially delivered				
The Terro					
me rem	ns and Conditions of this Purchase Order are available at http://ww	ww.sanoiego.g	ov/purchasing/vendor	Line Item Total	,
	IMPORTANT!			Tax \$	6.0
o ensur	e prompt payments, PO # must appear on all shipments a o <i>Billing</i> Contact person at <i>Bill-To</i> address listed above	and invoices;	all invoices must be	PO Total	358,382.6